
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

8043.1 × 0.01 = ________ 2055.5 × 0.01 = ________

1372.4 × 0.001 = ________ 1942.5 × 0.1 = ________

4085.7 × 0.01 = ________ 8716.5 × 0.0001 = ________

1647.8 × 0.01 = ________ 7669 × 0.1 = ________

3866.6 × 0.1 = ________ 5602.5 × 0.0001 = ________

5729.8 × 0.01 = ________ 9316.1 × 0.1 = ________

5792.7 × 0.0001 = ________ 8994.3 × 0.0001 = ________

6065.6 × 0.0001 = ________ 3921.2 × 0.1 = ________

5600.2 × 0.01 = ________ 4994.1 × 0.01 = ________

9824.6 × 0.01 = ________ 6269.6 × 0.0001 = ________

www.snowmath.com

https://www.snowmath.com


Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

8043.1 × 0.01 = 80.431 2055.5 × 0.01 = 20.555

1372.4 × 0.001 = 1.3724 1942.5 × 0.1 = 194.25

4085.7 × 0.01 = 40.857 8716.5 × 0.0001 = 0.87165

1647.8 × 0.01 = 16.478 7669 × 0.1 = 766.9

3866.6 × 0.1 = 386.66 5602.5 × 0.0001 = 0.56025

5729.8 × 0.01 = 57.298 9316.1 × 0.1 = 931.61

5792.7 × 0.0001 = 0.57927 8994.3 × 0.0001 = 0.89943

6065.6 × 0.0001 = 0.60656 3921.2 × 0.1 = 392.12

5600.2 × 0.01 = 56.002 4994.1 × 0.01 = 49.941

9824.6 × 0.01 = 98.246 6269.6 × 0.0001 = 0.62696
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